n
L b yels nu2, 01— 9" (1 - %) A Bua Aad.,

n
- e egudl = (1 - )" (1 - j

2.

=( - 0 - l)n iR = (1 - I)n (1 - i)n(_l]n L qn
= [ - i)Z]H,(_l]n N {1+ i2 _ 21)11(_1)??. in [« 1'2 = -1]
— (1= 1=2)7=1)" " = (=2)" . ()" "

— (_1)211 s L T
13

. n+1 o . oY -
Z(l"ﬂ" ),%%LneNgl‘j\G!{HUlm.
n=1

13
- ] Z(i”+i”+1),neN

n=1

:(i+i2+i3 4 5 G 7 8 9

+ I+ P+ P+ P+

M2y i s P+ B+ A+ P+ 0+

+ 84 94 0 A 12 413 g1

10

S+ 22+ 28 + 204 + 280 + 28 4 217 + 28 + 282 + 24104 2711 4 2412 4 9413 4 {14

i+ ()7

=i -2-2i+24+2i-2-2{+2+2i-2-2i+2+2i-1

=i-1
iy 3d
13 13
S (it neN< ¥ i(1+1)
n=1 =1
=l +Di+Z2+PB++P+B+i7+8+P°

12
=1 + a[iIS] [ in 4 in-v—l + in+2 + i”+3 — O'Cm{[ neN i.e., 2 in -0

=1 +Di [ @ i=1q
={@E+=i-1

1+i) (1-i)
tﬂ[l—i] _[1+i] =X + iy &, A (v, y) Ana.

A3 3
g, (2L ey (i
Hel, 17 T R A

_ (l+z] C1+8343i0+0)  1-i+3i+ 37
1-i) 1-3-3i0-) 1+i-3i+ 3

+ i

11

P—2-2i+ 2+ 20 +20H2 + 204 + 2(29)% + 2% + 225 + 2(%)° .

13]

20-2  i-1 1-i  (-d-i) 1+i%-2i 1-1-2i

T 2i-2 —i-1 1+i 1+d0-1

1+1

2

i+ 2028 + 2(%)°



1Y a1 2
1+1i 1
ylRenM ({) A (i) uzell A4 uReus w4,

A% UMIEL, (

—-i-i=x+iy
S0+ 2i=x+ 0y
ed ards wA sieums oL qadi,
x=0ud y=-2
M, (x, y) = (0, -2)

2
1+ . .
4. °h(2 l), =x+iy &R, dl X+ )y d 3y Andl.
-
A+ )P < -
- a){é,l( ], =X+ 1y w44 9.
-1
'—(1+i2+2i)fx+i = =x+i
T2 Y=5" ¥
2i(2 + 1) o 4i+ 262 ,
=Xty = =X+ Iy
2-DE2+10) 4

4 -2 ] 2 4 ]
- :x+1,y=>?+€:x+r,y

oir d28s ARAlQs 24 sieuFs *UeL Al

X=—= 3 y=—¥4
2.4 2
Y= s T57 5
1 )10
5 ( J =a+ib aa, A (a, b) AndA.
1+
L j\00
-l ( f} —a+ib
1+ _
. ..ql00 2,00
{(1”-(1”} =a+ib =>{1+l 21] =a+ib
(1+4) (1-10) 1—i2
' .+ 100
,2 .
- (TlJ =a+ib [ 2 = -1]
L @MP-a+ib=1+1io [+t = 1]
a=1s1b=0
s la, by = (1, 0)
6. NANQ+Dz=010-0)Z &, Al oidi S z = —-iz
- ol Qtiz=(-iz . toUzd
z (1+1i
. . .2
é:{lfl‘]{lfl‘]=>§21+l —21[ 2__y
z {(+d{l-0 =z 142



z 1-1-2i
LosT,
z=-iz
% uisld yReu .
Nz=x+iy&a d afdia sA 5 zZ +2(z+2)+ b =0 adn eaid d. i b € R.
mél z = x + iy MUA D,
s Z o= x — iy (Mgeig Asr Ava)
8l zz +22+z)+ b=0
S+ -2+ iy+x-ip+ b=0
X2+ Yy rdx + b= 0% agad wlsa 8.

1+a

N a = cosO + isind &k, d 1 Ana.

wel, @ = cos® + i sind

. 1l+a 1+ cosd +isinb
“1-a 1-cos@—ising

- 1+2c0s?8/2 -1+ 2isin6/2- cosd/2 - 2c080/2(cos8/2 + i sinB/2)
1-1+ 2sin®@/2 — 2isin@/2. cosd/2  2sin®/2(sinB/2 - i cosb/2)

2cos8/2[cos8/2 + isinB/2] 1
- - = - cot(8/2)
2isin6/2[cosB/2 + isin6/ 2] i

- o
_ T cot(8/2) = icot (8/2) [ L ;}
! i i

. . zZ+2
S WAl —

oll drdlds el 4 . dl cididl 5 z ol [Gigua adn R

[

Wi s z=x+ iy

'Z+27x—iy+2

o

oz o1 x—iy -1

7= [(x +2)—iy][(x - D+iy]
[(x -1 -iy][(x -1 +iy]

(= D(x+2) —iylx -1+ iy(x+2) - y?

- 1%+ y?
(x-D(x+2)+ y* +i[(x+2)y—(x—1)y] ,
= . _i = 1
(x—l)2 + y2 [ )
' 2
! . (=D +2)+y
Ml aAirdlas sna ddi, 5 5 =4
(x -1° +y
XX +2x -2+ =42 -2x+ 1+
v 3x2 + 32 - 9x + 6 =0, % ada wauld §.
2§14, Wl HsHL z ¥oada Uz 9.
. . z—-1 T .
A s Rbvan z A arg (z " 1] = 2 o Wil 52 dl cdidl 5 A adn U2 B A Gididl.

~

WL S z = x + iy



- 1 ~ =
arg [Z ]z w4 YA 9.
z+1

warglz - 1) — arg{z + 1) = n/4
warg{x + iy — 1) —arg{x + iy + 1) = n/4
varglx -1+ iy) —arglx + 1 + iy) = n/4

4 ftan’lizn/él
x-1 x+1

—_

Lotan

2y -
5 =1

Cx +y271
Xy -1 =2y
X2+ Y -2y - 1=0% adn said 9.

11.  wisker B5dl : |z| =z + 1 + 2i

oot s |z =z + 1+ 20 L (i)
Wi 5 z=x+ iy
|x+dy| =x+dy+ 1+ 20 (-~ ulRenn (i) uzadl)

Jc2+y2 =x+iy+1+2i [ |z|+\/x2=y2}

Xy =+ D) +ily +2)

sid, el ol SR,

XA E Y= o+ D2+ By + 2%+ 2ix + Dy + 2)
Xy =i 2x+1 -2 Ay 44 2ix+ D(y+ 2)
el AxlAs 2 Sls sua weudl,
x4 20+ 1 -y -4y -4

walg 22 =2x-4y-3 .. (ii)

»d 2+ Dy +2) =0

(x+ 1) =022l (y+2) =0

X =-lMadry = -2

X =—-1™e

22 = 2 — 4y — 3 Hdl.

22 + 4y + 5 =0 (oo 23l (i) ueell)
-4+ .16 - 2x4x5

Ly = ;
—4 % -24

ny=—T-—¢R

4
y = -2 sld dl

L2022 = 2x -4 (2) -3 (ool (i) ueel)
L 8=2x+8-3



L 2x=3=x=3/2
'.z:x+iy:3!2—2i



